	Shade Tree/Getting Green	Diggin Key West	Mama's GardenCenter
1-Sabal Palm: 13ft CT	\$110	\$200	\$540
1-Maypan Coconut Palm: 15ft CT	\$1190	\$1250	\$900
4-Thatch Palms: 8ft CT	\$2560 (4 x \$640)	\$2700 (4 x \$675)	\$3960 (4 x \$990)
2-Lignum vitae: 45 gallon	\$1900 (2 x \$920)	\$2200 (2 x \$1100)	\$1800 (2x \$900)
4-Silver Buttonwood: 45 Gallon	\$1000 (4 x \$250)	\$1700 (4 x \$425)	\$495 (4 x \$495)
2-White Bahama Tabebuia: 45 gallon (Tabebuia bahamensis)	\$430 (2 x \$215)	\$850 (2 x \$425)	\$900 (2 x \$450)
2-Golden Shower or similar trees: 45 gallon (Cassia fistula, C.javanica, C.bakeri or C.grandis)	\$630 (2 x 315)	\$850 (2 x \$425)	\$990 (2 x \$495)
At least two deliveries to Key West (Palm Avenue).	\$1200 (2 x \$600)	\$1050 (2 x \$525)	\$130 (2 x \$65)
TOTAL QUOTE:	\$9,020	\$10,800	\$11,200



Phone: 954.680.1819 Fax: 954.680.1669

BOTANICAL/COMMON NAME

Sabal Palm - Slick

Maypan Coconut Thatch Palm

Lignum vitae (Guaiacum sanctum)

Silver Buttonwood

Tabebuia bahamensis

Cassia fistula

Mailing:

P.O. Box 840107 • Pembroke Pines, FL 33084

Nursery:

ITEM

2

3

4

5

6

7

5325 SW 64th Avenue · Davie, FL 33314

Sales@GettingGreen.com

QTY

1

4

2

4

2

2

www.GettingGreen.com

QUOTATION FOR:	Shade Tree					
Job Name:	Tree Commission					
Destination:		Key West				
Quote Number:		·				
Quote Date:		3/	13/2	017		
Approximate Delivery Date:						
Contact Name:		Joh	nn/K	aren		
Contact Phone:						
Contact Fax:						
Email:	kdemaria@cityofkeywest-fl.gov; shadetreeservices@yahoo.com					
Comments:						
Quoted Material:	\$	7,820.00		Tax Rate (%)		
Sales Tax:	\$	-		0.0		
* Estimated Freight:	\$	1,200.00	(2	Deliveries)		
TOTAL QUOTE AMOUNT:	\$	9,020.00				
REQUESTED		SPECIFICATION				TOTAL
SPECIFICATIONS		COMMENTS		PRICE		PRICE
13'CT			\$	110.00	\$	110.00
15'CT (14'GW)			\$	1,190.00	\$	1,190.00
8'CT		16'OA Very Limited	\$	640.00	\$	2,560.00
45G		65G	\$	950.00	\$	1,900.00
45G Standard			\$	250.00	\$	1,000.00
45G		Extremely Limited	\$	215.00	\$	430.00
45G		Limited	\$	315.00	\$	630.00
·		·	\$		\$	
·		·	\$	-	\$	-
			\$	-	\$	-
·			Φ	-	¢	-

Please Note: All pricing for plant material is based upon current availability and is subject to change. Due to the nature of plant material the item or specification you have requested may not be available at the time the order is placed. However we will exhaust all our resources to locate the item in the specification you require and will only substitute with your prior approval. Getting Green only ships quality Florida #1 material that has been hand selected by our Field Product Managers.* In addition the estimated freight cost is to be used as a guide only and is subject to change based upon factors beyond Getting Green's control such as distance to destination, the number of stops and customer detention charges. We will be happy to provide you with the exact freight cost at the time of order acceptance. If any of the items are highlighted and not quoted than the item is not currently available in the specification required.

Thank you for the opportunity to quote on this job. If you have any questions regarding this quote or our services please do not hesitate to contact us.

Accepted By:	
Print Name:	
Date:	

Material

Freight

Delivered Price

7,820.00

1,200.00

9,020.00

Estimate: Karen DeMaria

Diggin Key West | Mark Harris 714 South Street Key West FL 33040 United States



City of Key West Karen DeMaria Estimate #

0000144

Estimate Date

March 12, 2017

Estimate Total (USD)

\$10,800.00

Item	Description	Unit Cost	Quantity	Line Total
Deliver	Sabal Palm 13 FT. Clear Trunk (Veterans Memorial replacement)	200.00	1	200.00
	Maypan Coconut Palm 15 FT. C.T. (N. Roosevelt replacement)	1,250.00	1,	1,250.00
	Thatch Palm 8 FT. C.T.	675.00	4	2,700.00
	Liqnum Vitea 45 Gallon	1,100.00	2	2,200.00
	Silver Buttonwood 45 Gal.	425.00	4	1,700.00
	White Bahama Tabebuia 45 Gal.	425.00	2	850.00
	Golden Shower 45 Gal.	425.00	2	850.00
	Delivery charge	525.00	2	1,050.00

\$10,800.00

Terms

50% deposit required upon acceptance and balance on delivery.

Notes

Thank You!! If you have any questions or concerns please contact me 305-923-6228/digginkeywest@aol.com

QUOTE MML-Q-22979

111 Overseas Hwy #108 Key West, FL 33040 Phone: 305-296-1617 www.mamasgardencenter.com



Joanne Nitka Created 3/13/2017 Modified 3/13/2017 Valid for 30 days

Customer

City of Key West

City of Key West PO Box 1409 Key West, FL 33041 **Shipping Address**

3140 Flagler Ave, Key West

Contact

Karen DeMaria, Urban Forestry Manager (305) 809-3768 (work) Karen DeMaria (other) (305) 797-2400 Jerry Farrell kdemaria@cityofkeywest-fl.gov PO: Shipping: None

Product Code	Description	Sell	Qty	Total
AS-SP1216-FG	Sabal Palms 13' ct (Regular \$600.00/unit, 10.00%/unit Discount)	\$540.00	1	\$540.00
MGC-3547	Coconut - Maypan - 15' ct (Regular \$1000.00/unit, 10.00%/unit Discount)	\$900.00	1	\$900.00
BW-5914	Thatch, Green Single 8' ct - (7-8'ct, approx. 16'oa) (Regular \$1100.00/unit, 10.00%/unit Discount)	\$990.00	4	\$3960.00
TW-7153	Lignum Vitae 45 gal (Regular \$1000.00/unit, 10.00%/unit Discount)	\$900.00	2	\$1800.00
TW-11901	Silver Buttonwood 45 gal (Regular \$550.00/unit, 10.00%/unit Discount)	\$495.00	4	\$1980.00
DI-1203	Tabebuia, Bahama 45 gal (Regular \$500.00/unit, 10.00%/unit Discount)	\$450.00	2	\$900.00
TW-1131	Cassia Fistula, Javanica, Bakeriana, Grandis 45 gal (Regular \$550.00/unit, 10.00%/unit Discount)	\$495.00	2	\$990.00
Delivery- Far	Delivery (Key West, north of Big Coppit up to Big Pine) CURBSIDE ONLY	\$65.00	2	\$130.00
Delivery- Far	Delivery - (any additional deliveries will be at \$65.00 per delivery)	\$65.00	0	\$0.00
	Materia			

QUOTE MML-Q-22979

111 Overseas Hwy #108 Key West, FL 33040 Phone: 305-296-1617 www.mamasgardencenter.com



Joanne Nitka Created 3/13/2017 Modified 3/13/2017 Valid for 30 days

Customer

City of Key West

City of Key West PO Box 1409 Key West, FL 33041

Sincerely JoanneŃitka Mama's Garden Center 305-296-1617

Shipping Address

3140 Flagler Ave, Key West

Contact

Karen DeMaria, Urban Forestry Manager (305) 809-3768 (work) Karen DeMaria (other) (305) 797-2400 Jerry Farrell kdemaria@cityofkeywest-fl.gov

Shipping: None

Product Code	Description	Sell	Qty	Total
	This is a quote for the trees as requested.			
	The delivery charges have been calculated for 2 deliveries. Any additional deliveries will be added to final invoice.			
	If you wish to proceed with any or all of the quoted material, please specify in writing via reply email. We will require a written purchase order before we place any orders for materials.			
	If you have any questions, please don't hesitate to contact me.			

ANY ADDITIONAL REMOVALS OR RELOCATIONS OF EXISTING PLANTS OR TREES WILL BE AN ADDITIONAL CHARGE PER MANHOUR AND BILLED AS SEPERATE LINE ON FINAL INVOICE.

joanne.nitka@mamasgardencenter.com

DEBRIS REMOVAL (IF APPLICABLE) IS AN ADDITIONAL CHARGE AND WILL BE ADDED TO FINAL INVOICE AT \$37.50 PER YARD OF DEBRIS REMOVED.

PLEASE NOTE:

Quote is valid for 30 days. Please call us to confirm prices after 30 days of quotation date. Acceptance of the quote requires a 50% deposit, and the balance is due upon completion of the job. We accept cash, check, Mastercard, VISA, Discover, AMEX.

MAMA'S GARDEN CENTER POLICIES AND GUIDELINES FOR NEW PLANTINGS

Mama's Garden Center warrantee's trees and plants for a period of 6 months after installation as long as the following conditions are met:

Mama's Garden Center does the actual installation of all plants involved with the job. A proper working irrigation system is in place at the time of install. Specific plants not covered under this warranty include any seasonal flowering ground cover such as - Impatiens & Vincas and tender ground covers such as Blue Daze, Verbena, Gaillardia, Mexican Heather, Ajuga and Peperomia. Mama's Garden Center reserves the right to replace plants, trees covered under the warranty with substitute species of similar characteristics, size and value. In the event that trees or plants which were ordered for the specific job are not used due to decrease in quantities determined by the customer or Landscape Architect, a 30% re-stocking fee may be accessed, based on the Quoted price. It is the customer's responsibility to obtain any necessary permits and to locate any underground lines, pipes or septic systems and drain fields prior to beginning of job. Mama's Garden Center will not be held liable for any damages incurred due to hidden or unknown lines, pipes, septic systems and drain fields.

**DISCLAIMER: Although Mama's Garden Center makes every effort to successfully relocate/transplant trees or plants, Mama's Garden Center does not guaranty the survival of such trees/plants and no warranty applies.

Guidelines for Maintaining New Plantings

WATER, WATER, WATER
If a proper working irrigation system is not in place, it is recommended that one be installed. If customer cannot, or chooses not to install an irrigation system, it is important that the new plantings are watered daily for a period of at least 30 days. Watering may then be decreased to every other day as long as the plants do not show signs of stress. Please do not count on rain to be the source of water. The plants need a good deep watering in order to recover from the stress of planting and to adapt to their new environment. New plantings should receive a slow release starter fertilizer and mulch at the time of install. It is recommended to fertilize and mulch all plants and trees on a quarterly hacic

Subtotal

\$11200.00

Page 2 Signature Total

\$11200.00